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9. A room is 20 I'cot loiii; mid IG Coot wiih; : what

niiKst bo tlio hoight in ortlor that tlus aroii of tlio lloor

and ceiling together may be equal to the area of the

walls?

10 Two trains, each 88 yards long, when moving in

the Hatnu direction pass each othor in 18 seconds, and

in 6 seconds when moving in o[>|)osite directions : (ind

the rates of the trains.

XIV.

1. The difference between the interest and the dis-

count on a sum of money lor one year and 9 months at

8 per cent, per annum, was $'J.80 : find the sum of

money.

2. A room whose length is 1^, times its breadth,

and Ikfiight 12 ft,, takes 156 yards of paper, 24 inchea

wide, to cover its walls : what will it cost to carpet the

floor with carpet 27 inches wide and $1.25 per yard 1

S The interest on a sum of money for 5 years is

$1 10, and the discount for the same time and rate ii

$100 : find tl:e sum and rate per cent.

Sol.—iiO—lOO= 40 ^ int. on 100 .*.
-j^o
=

I i. e., int. is | of principalj .*. disct. = ^ ;

then 140 is | of $3502 principal, &c.

4- A grocer bought green tea and black in the ratio

of 2 : 1 , thf former costing 70 cents per pound, the

latter 80 cents—the whole costing $44 : how much

will he make by selling the whole at a uniform price

of 90 cents per pound]

5' What amount of accounts must an agent collecc

in order to pay over $1,100 after retaining 8^ pet

cent, i'oi ooUecbiug ?


